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QUESTION 1

What are some differences between a Major upgrade and a Minor upgrade of OneFS? 

A. Major is a change to either of the first two decimal places of the OneFS version and Minor is a change to either of the
last two. 

B. Major is a change to one of the first three decimals of the OneFS version while Minor is a change to the last digit. 

C. Minor is for code patches and Major is for Maintenance releases. 

D. Minor includes core operating system changes and Major is for core operating system changes and new OneFS
functionality. 

Correct Answer: A 

 

QUESTION 2

A customer is setting up their SNMP manager. Which commands can they use to test the ability to collect SNMP data
from their cluster? 

A. snmpget and snmpwalk 

B. snmpd and ntpd 

C. netstat and tcpdump 

D. iotop and traceroute 

Correct Answer: A 

 

QUESTION 3

You are troubleshooting LDAP cluster integration. 

What could you use to verify that the cluster can communicate to the configured LDAP server? 

A. isi auth 

B. dcpromo 

C. isi sync 

D. isi job 

Correct Answer: A 

 

QUESTION 4
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Which job executes customize file pool policies? 

A. SmartPools 

B. FlexProtect 

C. PermissionsRepair 

D. AutoBalance 

Correct Answer: D 

 

QUESTION 5

Which capability does the "isi_nodes" command provide? 

A. Displays customized node information 

B. Integrates OneFS with UNIX commands 

C. Enables cluster wide execution of single node commands 

D. Provides code configuration capabilities 

Correct Answer: D 

 

QUESTION 6

Which log file contains information about possible drive errors? 

A. isi_radish.log 

B. diskpools.log 

C. isi_hdfs_d.log 

D. isi_hwmon.log 

Correct Answer: A 

 

QUESTION 7

What is a potential result of increasing the level of logging detail on your cluster? 

A. You could fill up the limited space in the /var directory. 

B. You could fill up the limited space in the /tmp directory. 

C. There is no way to do this without recompiling the kernel. 

D. You will create an unsupported condition on the cluster. 
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Correct Answer: A 

 

QUESTION 8

You are looking at a cluster event which has an Ancestry of 1.215 and a Instance ID of 1.260. What fact about the event
can be derived from this information? 

A. 1.260 is a coalesced event 

B. The event is from the Node Status category 

C. Event 1.215 was quieted, which triggered event 1.260 

D. Event 1.215 has been canceled 

Correct Answer: A 

 

QUESTION 9

A customer is using IBM\\'s Tivoli Monitoring management software and reports that SNMP data for the Isilon cluster is
indecipherable. 

How can this be resolved? 

A. Download Isilon MIBs from the cluster or from Isilon Knowledgebase. 

B. Contact software vendor and request an upgrade to SNMP software 

C. Write a program to convert SNMP numbers to a readable format 

D. Extract records with object identifier of 12124 and process with Excel 

Correct Answer: A 

 

QUESTION 10

Which process is executed using the "rm" command? 

A. Paginate displayed output 

B. Delete files and directories 

C. List files and directories 

D. Display, copy, create or combine text files 

Correct Answer: A 

 

QUESTION 11
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How many SIP addresses are allowed per Isilon cluster subnet? 

A. One 

B. Two 

C. Eight 

D. Depends on the number of nodes 

Correct Answer: A 

 

QUESTION 12

What are the three sections of an event type number? 

A. Category, Subcategory, ID number 

B. Node Number, Node Event ID, Master Event ID 

C. Type, Severity, Value 

D. Phase Number, Task Number, Item Number 

Correct Answer: D 

 

QUESTION 13

In what form does Isilon\\'s SmartConnect SIP answer DNS queries? 

A. An authoritative answer 

B. A non-authoritative answer 

C. A positive answer 

D. A negative answer 

Correct Answer: A 

 

QUESTION 14

When are non-path based file pool policies applied to files which have been written to the cluster? 

A. Whenever the SmartPools job runs 

B. Only at 22:00 Hrs 

C. Upon Ingress or at 22:00 Hrs 

D. Whenever the policies get updated via an edit. 
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Correct Answer: A 

 

QUESTION 15

What will be displayed after running the netstat -r command on the cluster? 

A. Content of the routing table 

B. Network utilization of a node 

C. Network traffic received by the cluster 

D. Network utilization of the cluster 

Correct Answer: A 
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